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Weight Gain and M, in Liver

X y
147 5.4
103 24.7
102 14.2
102 8.6

75 27.0

69 24.3

65 17.0

61 43.0

53 27.0

49 30.0

48 32.0

45 41.0

42 27.0

31 80.0

22 29.0

Total 1012 434.2
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Weight Gain, Mo Concentration, and Cu Concentration

X y(x) ycz)
147 9.4 8.7
103 24.7 11.6
102 14.2 7.6
102 8.6 7.1
75 27.0 13.0
69 24.3 19.0
65 17.0 14.0
61 43.0 21.0
53 27.0 17.0
49 30.0 25.0
a8 32.0 24.0
45 41.0 34.0
42 27.0 19.0
31 80.0 64.0
22 29.0 29.0
Total | 1012 434.2 314.0
Lia931n3n (X’X>”" avidau
uar X'Y = 434.2 314.0 |, Y'Y = | 16735.54 12335.98
24151.2 16630.1 12335.98  9429.42
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= 0.3576670982 -0.0043132475 434.2 314.0
-0.0043132475  0.0000639315 24151.2 16630.1
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A (
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-0.3287896217 -0.2911724768 24151.2 16630.1

= 14259.526862 10586.886833

10586.68633 7889.18031
-
E = 186735.54 12335.98 - 14259.52662 10586.68633
12335.98 9429.42 10586.68633 7898.18031
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EREEE
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A’f - D’ = [ -0.3287896217 -0.2911724768 1 - C 0 O I
= [ -0.3287896217 -0.2911724768 ]I
B -1
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7.6 n11u1ﬂ1ﬂﬂ11ulaﬂﬁu (Simultaneous Confidence Intervals)
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ngas (17) ﬂ?\lﬂ‘)'\utgﬂﬁu (Simultaneous Confidence Intervals)

dwiv s, " waz g, % awanduRe  Cu . = 0.606971]

1i.13%». .05

B, t -0.3288 % //(2476.01338)(0.0000639315),/(1-0.606971)/0.606971
= (-0.6940, ~-0.00886)

B,"’: -0.2912 1 J(1530.23969)(0.0000639315)J(1—0.606971)/0.606971
= (-0.5429, -0.0395)
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11 4 uasnaday A « = .05 H_: B, =L, ?7 8,%73" =0 = [0
N g LY
50 13.1 12.5
75 12.0 11.7

100 14.5 14.3
125 17.2 17.7
150 27.3 27.2
160 19.1 18.9
168 27.7 27.1
200 17.3 17.8
210 10.0 9.9
250 31.8 31.0
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! [1.5
% y<1> y(a)
2 T.2 5.0
2 5.4 5.6
2 9.0 5.1
2 9.2 5.2
5 11.1 11.9
5 11.0 10.2
5 10.2 11.7
5 10.3 10.7
8 11.8 14.3
6 13.0 12.3
6 13.5 12.6
8 11.5 13.9
10 16.0 20.9
10 16.9 21.4
10 16.9 20.7
10 17.7 20.1
13 17.8 28.0
13 20.8 26.8
13 20.5 25.6
i3 17.8 26.8
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